1. Graph f(x) = -6log2x+ 4
State all the key features:  domain, range, asymptotes, intercepts, intervals of increase/decrease, positive/negative intervals, absolute max/min, local max/min, end behaviours. 

Determine where the instantaneous rate of change is closest to zero.
2. Graph f(x) = 2log10(-(x-4)) + 2

State all the key features:  domain, range, asymptotes, intercepts, intervals of increase/decrease, positive/negative intervals, absolute max/min, local max/min, end behaviours

Determine the average rate of change on the interval (-1, 2)

3. Graph f(x) = -5(x-3)3 + 1
State all the key features:  domain, range, asymptotes, intercepts, intervals of increase/decrease, positive/negative intervals, absolute max/min, local max/min, end behaviours
Determine where the instantaneous rate of change = 0.
4. Graph f(x) = 2(x+6)4 -6
State all the key features:  domain, range, asymptotes, intercepts, intervals of increase/decrease, positive/negative intervals, absolute max/min, local max/min, end behaviours
Determine where the instantaneous rate of change = 0.

5. Graph f(x) = -2x4 + 8 and 

g(x) = -log2(-2x+8).

Determine where f(x) >g(x)
